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X 2% DMERLHE TS, B h: R — R PMBEBZR S
h(E(X)) <E(h(X)) (1zvEYOFER)
LB ERE. (BY N Ve h(z) > alz — B(X)) + h(E[X]) #7727 o WMEET B L 25T
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(1) R X1+ Xo=TPEXSNLEID Xy OFRMMNSHRERE, X; OFRMAMNESFEIERD XK.
(2) HR X1+ Xo <THEAOSNLEID Xy OFRMMNSHREHE, X; OFRMAMN ST RD XK.

XY ST, TNENET v Y U p(N) 16D HERER L T 3.

(1) Z=X +Y OWREEE KD k.
(2) n ZERBET S, HE Z =0’ BEASNEEED X DL E A% RD X,
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1) W=X+Y, Z= XL” YEB L E W7 OREHREERESE R &

(2) W=wWPEZoN/zED Z DFMN SHERELERBRZ KD K.
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Y E, UTFOMNZEZ L.

(1) Z=XY 8L L&, (V,2) OFRHEREEREE fx, fy ZHVTERDYE.
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